
motobilt.com | 334-219-2333

MB5067 - Assembly Instructions Linkable Lightbar Roof Rack Brackets

REV: 

1

MB5067 - LINKABLE LIGHTBAR

ROOF RACK BRACKETS

ASSEMBLY INSTRUCTIONS



MB5067-01

MB5067-02

1/4" Plain Washer

Qty 4

1/4"-20 Nylon Locknut

Qty 4

1/4"-20 x 1" Button Head Socket Screw

Qty 4

motobilt.com | 334-219-2333

MB5067 - Shipping Linkable Lightbar Roof Rack Brackets

REV: 

2

CONTENTS



motobilt.com | 334-219-2333

MB5067 - Assembly Instructions Linkable Lightbar Roof Rack Brackets

REV: 

3

Step 01

1/4"-20 x 1" Button Head Socket Screw

1/4" Plain Washer

1/4"-20 Nylon Locknut

MB5067-01


